Immeuble |

3éme étage

chemin de la scierie 47h

piéce
s:19.10m2

piéce
s:16.00m2

chemin de la scierie 479

=

5:9.60m2
wc/do |

5:9.20m2

(&1

]

wecldo Il
5:4.80m2

séjour/mangericuisine

5:47.90m2
106.60m2
47h.03.07

balcon
5:11.60m2

C

piece
s:14.70m2

Jentréelcorridor
" :9.30m;

wc/do Il
5:3.90m2

piece
s:18.80m2

T weldo |
\ :7.90m2

piece
s:18.80m2

= 75| weldo
IIH : 5:7.90m2f

entrée/corridor.

séjour/manger/cuisine
5:40.10m2

94.70m2

47h.03.08

balcon
s:11.60m2

piece
s:14.70m2

piece
s:14.90m2

cage d'escali

piece
s:14.90m2

piece
s:18.80m2

s:15.30m2

[

5:9.30m2 N
s ‘ @ reduit
5:4.30m2

weldo

s:3.90m2

5:40.10m2 s:56.90m2
94.70m2 136.90m2
479.03.08 479.03.07

balcon
s:11.60m2

3.5 pcs. - app.106.60 m2
3.5 pcs. - app. 94.70 m2
4.5 pcs. - app.136.90 m2

balcon
s:11.60m2

entrée/corridor

wcl/do Il
s:3.90m2

w
'5:7.90m2

c/do |

Toutes les indications sont sans engagement



